LAUEO

o Id __ _
Sirona
E 2 R 5 OB %

1 [BZ 3% 58

A STRONGHOLD BY PRECISION AND POWER



i
K]

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

3-jaw through-hole power chuck

(adapter included)

1. REERASRSEMME - REBRIEEREEL & HE

B MReEEEERMA M -
2. R4 : FFEDIN 55026 X EHIZ#E -

BE{T : mm

@33
@33
@45
@45
@45
@52
@52
@52
Q75
Q75
@75
291
291
@91
@117.5
@117.5
©117.5
@117.5
@117.5
@117.5
180
2180
@205
205
@205
@230
230
2230

10
10
12
12
12
16
16
16
19
19
19
23
23
23
23
23
23
23
23
23
23
23
26
26
26
34
34
34

5.4
5.4
5.5
5.5
5.5
7.4
7.4
7.4
8.8
8.8
8.8
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
12
12
12
18
18
18

1784
1784
2243
2243
2243
3558
3558
3558
4385
4385
4385
5812
5812
5812
7240
7240
7240
7240
7240
7240
9177
9177
9177
9177
9177
10197
10197
10197

3671
3671
5812
5812
5812
9075
9075
9075
11319
11319
11319
14990
14990
14990
18355
18355
18355
18355
18355
18355
23861
23861
23861
23861
23861
24472
24472
24472

28.5
28.5
28.5
28.5
28.5
26.5
26.5
26.5
27.5
27.5
27.5
27.5
27.5
27.5
23.5
23.5
23.5
23.5
23.5
23.5
30.6
30.6
26.5
26.5
26.5
29.5
29.5
29.5

7000
7000
6000
6000
6000
5000
5000
5000
4200
4200
4200
3300
3300
3300
2500
2500
2500
2000
2000
2000
1800
1800
1400
1400
1400
1200
1200
1200

7.8
9
15.5
14.7
17.3
25.8
25
29.3
41
38
48.4
62.5
59.5
69.9
125
118
138
146
138
191
215
202
332
317
286
530
515
485

0.020
0.023
0.065
0.062
0.073
0.190
0.184
0.217
0.370
0.340
0.436
0.809
0.770
0.912
2.255
2.241
2.822
3.961
3.744
5.183
7.355
6.910
18.199
17.376
15.677
43
43
42

M1036
M1036
M1246
M1246
M1246
M1552
M1552
M1552
M1875
M1875
M1875
M2091
M2091
M2091
M2511S
M2511S
M25118
M2511S
M2511S
M25118
ML2816
ML2816
ML3320
ML3320
ML3320
ML3320
ML3320
ML3320

HJ05
HJO5
HJO6
HJO6
HJO6
HJO8
HJO8
HJO8
HJ10
HJ10
HJ10
HJ12
HJ12
HJ12
HJ15
HJ15
HJ15
HJ15
HJ15
HJ15
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1

HCo5
HCo5
HC06
HC06
HCo6
HCos
HCo8
Hcos
HC10
HC10
HC10
HC12
HC12
HC12
HC15
HC15
HC15
HC15
HC15
HC15
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1

J6-0135
26-0135
015-0169
215-0169
15-0169
@20-09210
@20-0210
@20-0210
025-0254
025-0254
025-0254
@30-0304
@30-0304
@30-0304
050-2381
250-2381
@50-2381
@50-0450
@50-3450
@50-0450
@120-0510
©120-2510
©150-0610
©150-0610
@150-3610
©210-2800
©210-2800
@210-2800



-205~MN-218 Serration Pitch 1.5
-220-N-224 Serration Pitch 3.0

120"x3pcs © N-205
157 1 N-206~N-218
30° 1 N-220~N-224

511 : mm

R =t

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

135 71
135 88
169 96

110 14 15 63.513 96
110 14 32 82563 82.55 104.78
140 20 20 63.513 104.78 82.55
169 91 140 20 15 82563 116 104.78
169 111 140 20 35 106.375 104.78 133.35
210 109 170 25 23 82.563 133.35 104.78
210 103 170 25 17 106.375 150
210 126 170 25 40 139.719 133.35 171.45
254 120 220 30 25 106.375 171.45 133.35
254 113 220 30 18 139.719 190 171.45
254 145 220 30 50 196.869 171.45 235

304 129 220 30 25 106.375 171.45 133.35

133.35

14
16
16
16
14
18
24
18
24
28
18

82.55 15.5 3-M10

3-M10
6-M10
6-M10
6-M10
6-M12
6-M12
6-M12
6-M16
6-M16
6-M16
6-M16

304 122 220

304 154 220 30 50 196.869 171.45 235

381 160 300
381 149 300
381 184 300
450 160 300
450 149 300
450 184 300
510 169 380
510 155 380
610 186 520
610 183 520
610 166 520
800 189 520
800 186 520
800 169 520

30 18 139.719

43 33 139.719
43 22 196.869
43 57 285.775
43 33 139.719
43 22 196.869
43 57 285.775
60 41 196.869
60 27 285.775
60 45 196.869
60 42 285.775
60 25 412.775
60 45 196.869
60 42 285.775
60 25 412.775

190

235
260
235
235
260
235
330.2
330.2
463.6
463.6
463.6
463.6
463.6
463.6

171.45 25
28
24
28
29
24
28
29

30

6-M16
6-M16
171.45
235
330.2
171.45
235
330.2
235 6-M24
330.2 33 6-M24
235 28 6-M24
330.2 32.5 6-M24
4636 35 6-M24
235 28 6-M24
330.2 32.5 6-M24
4636 35 6-M24

33
33
45
45
45
52
52
52
75
75
75
91
91
91

6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5

180
180
205
205
205
230
230
230

4 265 1975 775 16 6 2 10 20 25 M40x1.5 3-M6 44.531 62
4 265 19.75 7.75 33 23 2 10 20 25 M40x1.5 6-M10 44.5 31 62
5 32 2275 925 31 19 212 19 31 M55x2 6-M10 60 37 73
5 32 2275 925 26 14 2 12 19 31 M55x2 3-M6 60 37 73
5 32 2275 925 46 34 2 12 19 31 M55x2 6-M12 60 37 73
5 3887 29.75 11.75 375 21.5 2 14 20.5 35 M60x2 6-M10 66 38 95
5 38.7 29.75 11.75 31,5 155 2 14 20.5 35 M60x2 3-M6 66 38 95
5 38.7 29.75 11.75 54.5 38.5 2 14 20.5 35 M60x2 6-M16 66 38 95
5 514 33.75 1425 335 145 2 16 25 40 M85x2 6-M12 94 43 110
5 514 33.75 1425265 75 2 16 25 40 M85x2 3-M8 94 43 110
5 514 33.75 1425 585 395 2 16 25 40 M85x2 6-M20 94 43 110
6 61.3 45751575 33 10 2 21 28 50 M100x2 6-M12 108 51 130
6 613 45751575 26 3 2 21 28 50 M100x2 3-M8 108 51 130
6 613 45751575 58 35 2 21 28 50 M100x2 6-M20 108 51 130
6 82 45251525 40 17 5 22 43 62 M130x2 6-M16 139 66 165
6 82 45251525 29 6 5 22 43 62 M130x2 3-M10 139 66 165
6 82 45251525 64 41 5 22 43 62 M130x2 6-M24 139 66 165
6 82 79751525 40 17 5 22 43 62 M130x2 6-M16 139 66 165
6 82 79751525 29 6 5 22 43 62 M130x2 3-M10 139 66 165
6 82 79.751525 64 41 5 22 43 62 M130x2 6-M24 139 66 165
6 1125 605 245 52 29 5 25 38 64 M190x3 6-M20 206 73 180
6 1125 60.5 245 38 15 5 25 38 64 M190x3 3-M12 206 73 180
6 1319 875 245 61 35 5 25 38 64 M215x3 6-M20 230 73 180
6 1319 875 245 58 32 5 25 38 64 M215x3 6-M24 230 73 180
6 1319 875 245 41 15 5 25 38 64 M215x3 3-M10 230 73 180
6 162 1535 245 61 27 5 25 38 64 M250x3 6-M20 262 73 180
6 162 1535 245 58 24 5 25 38 64 M250x3 6-M24 262 73 180
6 162 1535 245 41 7 5 25 38 64 M250x3 3-M10 262 73 180

Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1



3-jaw through-hole power chuck
(adapter excluded)

- REBFASREEMME - MEBRIEERA R LHE
EE - MRS EERERMAK -

HN-204~N-218 Serration Pitch 1.5

- T -
. y
_“'\_\
ERnE o 1L\
N
T F=1
B |
& O B & f
elsll _-
1 =] =¥
J
2 R
B
1 ; W . - .
T o - T 120"x3pcs | N-204,N-205
KM -+ 157 1 N-206~N-218
[ B | 30" N-220~N-224
EEfi] : mm
B
R AR
N-204 226 10 5.4 1428 2906 31.6 8000 4 0.007 MO0928A  HJO5 HCO04 24-110
N-205 233 10 5.4 1784 3671 28.5 7000 7 0.018  M1036 HJO5 HCo5 06-0135
N-206 45 12 5.5 2243 5812 28.5 6000 135 0057  M1246 HJ06 HCO06 215-3169
N-208 @52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJ08 HCo8 220-3210
N-210 @75 19 8.8 4385 11319 27.5 4200 35 0315  MI1875 HJ10 HC10 025-@254
N-212 291 23 10.6 5812 14990 27.5 3300 56.5 0.737 M2091 HJ12 HC12 @30-0304
N-215  @1175 23 10.6 7240 18355 235 2500 111 227  M2511S  HJ15 HC15 250-0381
N-218 @1175 23 10.6 7240 18355 235 2000 131 355  M2511S  HJ15 HC15 @50-@450
N-220 @180 23 10.6 9177 23861 30.6 1800 190 6.5 ML2816  HJ24-1  HC24-1  3120-0510
N-224 205 26 12 9177 23861 26.5 1400 270 148  ML3320 HJ24-1 HC24-1  @150-0610
N-232 2230 34 18 10197 24472 29.5 1200 470 41 ML3320 HJ24-1  HC24-1  ©210-8800
B
R

N-204 110 59 85 14 706 16 3-M10x60 26
N-205 135 60 110 14 8255 15 3-M10x60 33
N-206 169 81 140 20 104.78 16 6-M10x80 45
N-208 210 91 170 25 133.35 20 6-M12x90 52 38.7 29.75 11.75 145 -15
N-210 254 100 220 30 171.45 22 6-M16x100 75 514 3375 1425 85 -105

4 23 1125 525 35 -65

4

5

5

5
N-212 304 110 220 30 171.45 23 6-M16x110 91 6 613 4575 1575 8 =g

6

6

6

6

6

26.5 19.75 7.75 1 29
32 2275 925 11 -1

10 175 23 M32x1.5 38 24 495
10 20 25 M40x1.5 445 31 62

12 19 31 M55x2 60 37 73

14 205 35 M60x2 66 38 95

16 25 40 M85x2 94 43 110
M100x2 108 51 130
22 43 62 M130x2 139 66 165
22 43 62 M130x2 139 66 165
25 38 64 M190x3 206 73 180
25 38 64 M215x3 230 73 180
25 38 64 M250x3 262 73 180

N-215 381 133 300 43 235 30 6-M20x135 117.5 82 4525 1525 7 -16
N-218 450 133 300 43 235 30 6-M20x135 117.5 82 79.75 1525 7 -16
N-220 510 134 380 60 330.2 35 6-M24x135 180 1125 605 245 11 -12
N-224 610 147 520 60 463.6 35 6-M24x150 205 1319 875 245 16 -10
N-232 800 150 520 60 463.6 35 6-M24x150 230 162 1535 245 16 -18

o g g a o N N N D NN
N
-
N
oo
o
o



NT-200
=Mz (RS R)

2-jaw through-hole power chuck
(adapter excluded)

- REBRASRESEHME - FIERREERERICNAEE
B MRS EEEE N -

S
B{iI : mm
BB
NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017 M1036 HJ05 HC05 06-0135
NT-206 @45 12 515 1495 3875 18.9 6000 12.8 0.054 M1246 HJ06 HC06 ©15-0169
NT-208 @52 16 7.4 2366 5975 18.4 5000 22 0.163 M1552 HJ08 HC08 @20-0210
NT-210 @75 19 8.8 2927 7546 18.4 4200 34 0.306 M1875 HJ10 HC10 @25-0254
NT-212 291 23 10.6 3875 9993 18.4 3300 55 0.717 M2091 HJ12 HC12 @30-0304
NT-215  ©117.5 23 10.6 4823 12236 15.3 2500 106 217 M2511S  HJ15 HC15 ©50-0381
NT-218 ©1175 23 10.6 4823 12236 15.3 2000 122 3.31 M2511S  HJ15 HC15 @50-0450

R <
NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 19.75 7.75 1 -9 10 20 25 M40x1.5 445 31 62
NT-206 169 81 140 20 104.78 16 6-M10x80 45 5 382 2275 925 11 -1 12 19 31 M55x2 60 37 73
NT-208 210 91 170 25 133.35 20 6-M12x90 52 5 387 2975 1175 145 -15 14 205 35 Me0x2 66 38 95
NT-210 254 100 220 30 17145 22 6-M16x100 75 5 514 3375 1425 85 -105 M85x2 94 43 110
NT-212 304 110 220 30 171.45 23 6-M16x110 91 6 61.3 4575 1575 8 -15 21 28 50 M100x2 108 51 130
NT-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 22 43 62 M130x2 139 66 165
NT-218 450 133 300 43 235 30 6-M20x135 1175 6 82 79.75 1525 7 -16 22 43 62 M130x2 139 66 165

(SIS, TR VR SRR IR G N}
-
o
N
ol
'S
o



B
R 1B

NIT-206
NIT-208
NIT-210
NIT-212
NIT-215
NIT-218
NIT-224

ZA
#C(H6)

LIS

NIT-200

4-jaw through-hole power chuck
. (adapter excluded)

- REFASHRESERAME - FIEBRIHEREEL &R E
EE - MRS EERERMAK -

et Serration Pitch 1.5

[

" (NIT-224 Pitch 3.0)

Z=HEEYEE (AZEER)

BT : mm

12
16
19

55
7.4
8.8
10.6
10.6
10.6
12

2243
3558
4385
5812
7240
7240
9177

5812

9075

11319
14990
18355
18355
23861

28.5
26.5
27.5
27.5
23.5
23.5
26.5

4500
3600
3200
2700
1900
1500
1000

0.058
0.177
0.324
0.763
2.331
3.798
15.2

M1246
M1552
M1875
M2091
M2511S
M2511S
ML3320

HJ06
HJO8
HJ10
HJ12
HJ15
HJ15
HJ24-1

HCo06
HCO08
HC10
HC12
HC15
HC15
HC24-1

015-0169
©20-0210
025-0254
@30-0304
250-2381
@50-0450
0150-0610

R

NIT-206
NIT-208
NIT-210
NIT-212
NIT-215
NIT-218
NIT-224

169
210
254
304
381
450
610

81
91
100
110
133
133
147

140
170
220
220
300
300
520

104.78
133.35
171.45
171.45
235
235
463.6

16 4-M10x80 45 5 32 2275
20 4-M12x90 52 5 38.7 29.75
22 4-M16x100 75 5 514 33.75
23 4-M16x110 91 6 61.3 4575
30 4-M20x135 1175 6 82 4525
30 4-M20x135 1175 6 82 79.75
35 8-M24x150 205 6 1319 875

9.25
11.75
14.25
15.75
15.25
15.25

24.5

11
14.5

85 -

16

12

a a a NnD D NN
N
=

M55x2

M60x2

M85x2
M100x2
M130x2
M130x2
M215x3



NHT-200
=M= M3t AR (SEER)

2-jaw and 3-jaw through-hole power chuck
(adapter included)

1. TEREFRAZ THHRF - FERKE -

2. REBIEASHRESEEME FREBIELKRAECRHAEEE
MRS B EEE R A -

3. R4 - FFEDIN 55026 EEHIZHE -

B : mm
R 15
NHT-208A5 @52 16 7.4 2192/1590 5608 / 3997 17.3/13.3 3500 26.2 M1552 HJO6 HCO08-1 ©20-0210
NHT-208A6 @52 16 7.4 2192/ 1590 5608 / 3997 17.3/13.3 3500 25 M1552 HJO6 HCO08-1 @20-0210

R~

NHT-208A5 210 113 170 20 23 82.563 133.35 104.78 14 6xM12 52 5 41.8 34 7.5 37.5 21.5 2 12 20.5 35 M60x2 6xM10 66 38 73 Fig-2
NHT-208A6 210 107 170 20 17 106.375 150 133.35 17 6xM12 52 5 41.8 34 7.5 315 155 2 12 20.5 35 M60x2 3xM6 66 38 73 Fig-1



o 5
# 1

NB-306A5
NB-306A6
NB-208A6
NB-210A8
NB-310A8
NB-212A8
NB-212A11
NB-215A15
NB-218A15

3-jaw extra large through-hole power chuck

(adapter included)

BABEE  HERED  ARAZEFAE -
- RYBEIRE20% : LE— % - EEH20%ZBE - "HHRK

BEAERT -

RERASAESESHME FEBEmESREECRAEERE -
MRS OB E KAt -
. R FEDIN 55026 X HHIELE o

81 : mm

@52
@52
66
a78
81
2122
a122
@142
J166.5

12
12
16
19
19
23
23
23
23

5.4
5.4
7.4
8.8
8.8
10.6
10.6
10.6
10.6

2243
2243
3558
4385
4976
5812
5812
7240
7240

5812

5812

9075
11319
12848
14990
14990
18355
18355

18.4
18.4
22.0
27.5
31.5
20.5
20.5
25.5
25.5

6000
6000
5000
4200
4500
3200
3200
2500
2000

14
15.6
24
37.4
36.4
72.2
65
130
161

0.06
0.087
0.14
0.4
0.33
1.04
0.95
3.0
4.77

M1552
M1552
M1768
M1878
MK1881
M2511S
M2511S
ML2816
ML2816

HJ06
HJ06
HJO8
HJ10
HJ10
HJ12
HJ12
HJ15
HJ15

HCO06
HC06
HCO08
HC10
HC10
HC12
HC12
HC15
HC15

@20-0170
@20-0170
226-0210
036-0256
@37-0254
059-0315
059-0315
60-0405
J78-0457



3k &5 Serration Pitch 1.5

15" : NB-306~NB-212
30° : NB-215~NB-218

O] [m]
8- a4 A &
A X
z B . )
= g
P o N _
s AR
58
i g Ny AN
-\? L
ST
E p i
IZJ 24
z2
B
R ~F
NB-306A5 170 91 140 20 15 82563 116 10478 145 6M10 52 5 37 1825 925 26 14
NB-306A6 170 111 140 20 35 106.375 10478 13335 16 6-M10 52 5 37 1825 925 46 34
NB-208A6 210 103 170 25 17 106.375 150 13335 195 6-M12 66 5 457 2375 1175 315 155
NB-210A8 256 113 220 30 18 139.719 190 17145 24 6M16 78 5 53 3375 1425 265 75
NB-310A8 254 113 220 30 18 139719 190 17145 24  6-M16 81 5 54 3225 1425 265 75
NB-212A8 315 145 300 30 33 139719 235 17145 24 6:-M20 122 6 795 3375 1125 53 30
NB-212A11 315 134 300 30 22 196.869 260 235 28  6-M20 122 6 795 3375 1125 42 19
NB-215A15 405 154 380 43 27 285775 3302 38302 33 6-M24 142 6 935 4525 1525 34 11
NB-218A15 457 154 380 43 27 285775 3302 3302 33 6M24 1665 6 102 6325 1825 34 11
B
R
NB-306A5 2 12 20 31 MB0X2 3-M6 65 37 73 16 36 65 M8x15 63 Fig-1
NB-306A6 2 12 20 31 MB0x2 6-M12 65 37 73 16 36 65 M8x15 63 Fig-3
NB-208A6 2 14 20 85  *M75x2 3-M6 80 38 95 16 45 80 M8x15 78 Fig-1
NB-210A8 2 16 25 40 M87x2 3-M8 94 43 110 16 60 102 M10x20 91 Fig-1
NB-310A8 2 16 25 40 M90x2 3-M8 97 43 110 16 60 102 M10x20 91 Fig-1
NB-212A8 2 21 28 50 Mi3x2 6M16 143 51 130 20 60 138 M10x10 123 Fig-2
NB-212A11 2 21 28 50  Mi35x2  3-M10 143 51 130 20 60 138 Miox10 123 Fig-1
NB-215A15 5 22 43 62  Mi55x2  3-M12 164 66 165 20 80 160  M12x22 145 Fig-1
NB-218A15 5 22 43 62  M180x3  3-M12 189 66 165 20 100 160  M12x22 145 Fig-1

*HEHESFM74x2



B

A

V205 15
V-206 20
v-208 21
V210 25
V212 30
V215 35
V218 35

it
[

(e}
V-205

===t

aiire=

;

=

V-205¢4)

6.4
9.2
9.7
8.8
10.5
16
16

836
1835
2549
2957
4181
8362
8362

2570

5353

7648

11013
15907
25391
25391

224
26.5
255
28.6
27.5
32.6
32.6

5500
5200
4500
4000
3300
3000
2700

6.3

12.7
23.8
36.4
62.3
106
122

0.015
0.048
0.137
0.3
0.78
1.94
3.09

=M EHEFRE (FFEER)
3-jaw wedge type non through-hole

power chuck (adapter excluded)

1. SR - ENRIIRE—HZSMHEE -
2. REALR IR © OIS HI B ER IR 44 DA A5 S BRE E 81 -

T

T

e
&
(7

> &

6 L1 oy
__/fg,[g\_ |

2

0" =V-205
15°=V-206~V-218

BT : mm

MH80 HJ05 HCO05 26-0135
MS105C HJ06 HC06 018-0165
MS125C HJO8 HCO08 026-0210
MS125C HJ10 HC10 026-0254
MS150C HJ12-1 HC12-1 026-0304
MS200C HJ15-1 HC15-1 268-0381
MS200C HJ15-1 HC15-1 298-0450

R

V-205 135
V-206 165
V-208 210
V-210 254
V-212 304
V-215 381
V-218 450

80
140
170
220
220
300
300

100
104.78
133.35
171.45
171.45

235

235

14

3-M8x60
6-M10x70
6-M12x85
6-M16x85
6-M16x105
6-M20x115
6-M20x115

o o o o o o N

30.5
38.7
46.75

16.75
15.25
22.25
30.75
48.75
49.75
49.75

6.25
7.75
8.75
9.75
9.75
21.25
21.25

9
104.6
132
158
163
104

6 3 10 35 25 M12x1.75 28 32 62
846 4 12 36 31 Mi6x2.0 34 39 73
111 5 14 36 35 M20x25 38 41 95
133 5 16 36 40 M20x2.5 45 46 110
133 5 18 36 50 M20x2.5 50 54 130

69 2 255 55 62 M30x3.5 60 63 165

57 2 255 55 62 M30x3.5 60 63 165



B 5
R B

VT-206
VT-208
VT-210
VT-212
VIT-212
VT-215
VIT-218

TS
R ~f
VT-206
VT-208
VT-210
VT-212
VIT-212
VT-215
VIT-218

VT&VIT
MR EHERE (RS ER)

2-jaw and 4-jaw wedge type non

1.

~—  through-hole power chuck (adapter excluded)

BERAEBRAMN : BRAR=MRERERFEZHHRERIG - ART
e ~ TRz -

. JERVEVARSIE#R -
3. BEXRRIREEVELIHES -
4. SHERERIVEIZEER -

Hips Serration Pitch 1.5

VT

A

N

S AT YT ey

‘\300

B8fi7 : mm

MS105C HJ06
MS125C HJO8
MS125C HJ10
MS150C  HJ12-1
MS150C  HJ12-1
MS200C  HJ15-1
MS200C  HJ15-1

A D AN D DN DN

165
210
254
304
304
381
450

140
170
220
220
220
300
300

9.2

9.7

8.8
10.5
10.5

16

104.78
133.35
171.45
171.45
171.45
235
235

1224
1683
1988
2804
4181
5557
8362

3569

5098

7342

10605
15907
16927
25391

4-M10x70

6-M12x85

6-M16x85
6-M16x105
4-M16x105
6-M20x115
4-M20x115

17.3
16.3
19.4
18.4
27.5
21.7
32.6

5200
4500
4000
3300
2800
3000
2300

15.25
22.25
30.75
48.75
48.75
49.75
49.75

12.3
23.1
35.1
60.3
64.3
102.6
127

7.75
8.75
9.75
9.75
9.75
21.25
21.25

0.045
0.13
0.29

0.7
0.77
1.89
3.21

104.6
132
158
163
163
104

84.6
111

4 12 36 31
5 14 36 35
5 16 36 40
5 18 36 50
5 18 36 50

2 255 55 62
2 255 55 62

HCo06

HC08

HC10
HC12-1
HC12-1
HC15-1
HC15-1

M16x2.0
M20x2.5
M20x2.5
M20x2.5
M20x2.5
M30x3.5
M30x3.5

J18-0165
926-0210
026-0254
026-0304
J26-0304
268-0381
98-0450



Bz
R 8

V-206A4
V-206A5
V-206A6
V-208A5
V-208A6
V-208A8
V-210A6
V-210A8
V-210A11
V-212A6
V-212A8
V-212A11
V-215A8
V-215A11
V-215A15
V-218A8
V-218A11
V-218A15

3-jaw wedge type non through-hole

power chuck (adapter included)
- EE A TSR FAASATIDINLA S B 25 E 8 -

81 : mm

20
20
20
21
21
21
25
25
25
30
30
30
35
35
35
35
35
35

9.2
9.2
9.2
9.7
9.7
9.7
8.8
8.8
8.8
10.5
10.5
10.5
16
16
16
16
16
16

1835
1835
1835
2549
2549
2549
2957
2957
2957
4181
4181
4181
8362
8362
8362
8362
8362
8362

5353
5353
5353
7648
7648
7648
11013
11013
11013
15907
15907
15907
25391
25391
25391
25391
25391
25391

26.5
26.5
26.5
25,5
255
255
28.6
28.6
28.6
27.5
275
27.5
32.6
32.6
32.6
32.6
32.6
32.6

5200
5200
5200
4500
4500
4500
4000
4000
4000
3300
3300
3300
3000
3000
3000
2700
2700
2700

14.5
13.9
15.8
26.8
25.6
30
41.8
39.6
50
67.6
65.5
75.9
119
113
132
136
129
148

0.062
0.056
0.059
0.154
0.147
0.172
0.35
0.33
0.417
0.76
0.75
0.888
2.12
2.05
2.56
3.28
3.20
3.71

MS105C
MS105C
MS105C
MS125C
MS125C
MS125C
MS125C
MS125C
MS125C
MS150C
MS150C
MS150C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C

HJ06
HJ06
HJ06
HJO8
HJO8
HJO8
HJ10
HJ10
HJ10
HJ12-1
HJ12-1
HJ12-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1

HCO06
HC06
HCO06
HC08
HC08
HC08
HC10
HC10
HC10
HC12-1
HC12-1
HC12-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1

218-0165
18-0165
218-0165
026-0210
026-0210
226-0210
026-0254
026-0254
026-0254
026-0304
026-0304
026-0304
268-0381
268-0381
068-0381
©98-0450
298-0450
298-09450



iSerration Pitch 1.5

15°=V-206~V-218
30°=V-221~-V-232

511 : mm

R <

63.513 104.78 82.55

V-206A4
V-206A5
V-206A6
V-208A5
V-208A6
V-208A8
V-210A6
V-210A8
V-210A11
V-212A6
V-212A8
V-212A11
V-215A8
V-215A11
V-215A15
V-218A8
V-218A11
V-218A15

165
165
165
210
210
210
254
254
254
304
304
304
381
381
381
450
450
450

89
84
104
103
97
120
109
102
134
125
118
150
141
130
165
141
130
165

140
140
140
170
170
170
220
220
220
220
220
220
300
300
300
300
300
300

20
20
20
25
25
25
30
30
30
30
30
30
43
43
43
43
43
43

20
15

57

82.563
106.375
82.563
106.375
139.719
106.375
139.719
196.869
106.375
139.719
196.869
139.719
196.869
285.775
139.719
196.869
285.775

116
104.78
133.35

150
133.35
171.45

190
171.45
171.45

190
171.45

235

260

235

235

260

235

104.78
133.35
104.78
133.35
171.45
133.35
171.45
235
133.35
171.45
235
171.45
235
330.2
171.45
235
330.2

16 6-M10
14 6-M10
16 6-M10
14 6-M12
18 6-M12
24 6-M12
18 6-M16
25 6-M16
28 6-M16
18 6-M16
25 6-M16
28 6-M16
24 6-M20
32 6-M20
29 6-M20
24 6-M20
32 6-M20
29 6-M20

21
21
21
25
25
25
34
34
34
34
34
34

5
5
5
5
5
5
5
5
5
6
6
6
6
6
6
6
6
6

38.7
38.7
38.7
46.75
46.75
46.75
51.1
51.1
51.1
61
61
61
775
775
775
108
108
108

15.25
15.25
15.25
22.25
2225
22.25
30.75
30.75
30.75
48.75
48.75
48.75
49.75
49.75
49.75
49.75
49.75
49.75

7.75
7.75
7.75
8.75
8.75
8.75
9.75
9.75
9.75
9.75
9.75
9.75
21.25
21.25
21.25
21.25
21.25
21.25

84.6 64.6 4

89.6
69.6
109
115
92
133
140
108
138
145
113
71
82
47
59
70
35

69.6
496
88
94
71
108
115
83
108
115
83
36
a7

24
35

4
4
5
5
5
5
5
5
5
5
5
2
2
2
2
2
2

12
12
12
14
14
14
16
16
16
18
18
18
255
255
255
255
255
255

36
36
36
36
36
36
36
36
36
36
36
36
55
55
55
55
55
55

31
31
31
35
35
35
40
40
40
50
50
50
62
62
62
62
62
62

M16x2.0 6-M10
M16x2.0 3-M6
M16x2.0 6-M12
M20x2.5 6-M10
M20x2.5 3-M6
M20x2.5 6-M16
M20x2.5 6-M12
M20x2.5 3-M8
M20x2.5 6-M20
M20x2.5 6-M12
M20x2.5 3-M8
M20x2.5 6-M20
M30x3.5 6-M16
M30x3.5 3-M10
M30x3.5 6-M24
M30x3.5 6-M16
M30x3.5 3-M10

34
34
34
38
38
38
45
45
45
50
50
50
60
60
60
60
60

39
39
39
41

M30x3.5 6-M24 60 63

73
73
73
95
95
95
110
110
110
130
130
130
165
165
165
165
165
165

Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3



V(40”-79")
REPEHRHBREEMRS (F2EEWN)
Large wedge type non through-hole

power chuck (adapter excluded)

1 ERAREAREIH  AESRIMNEZRSE -
2. REAIEEABER - MKPHERE - @GRIELER -
3. EAEHRARKMITREINGE  JRFABEFRAUITH -

(s}
Setling slroke

I

o . !
£ L TT
145 | ¢4Il‘

Soft jaw HC40-1 Hard jaw HJ40-1

I
BSfi1 : mm

R 1B

40" V-240 3 630 645 82
VIT-240 4 57 23 + (30) 180 320 42.8 550 700 89 MS250C HJ40-1 HC40-1 ©285-01005
VE-240 6 450 700 89

50" V-250 3 500 890 168
VIT-250 4 57 23+ (30) 180 320 42.8 400 940 177 MS250C HJ40-1 HC40-1 ©@270-@1250
VE-250 6 360 971 183

63" V-263 3 400 1800 548
VIT-263 4 60 24 + (40) 200 360 46.9 300 1700 518 MS250C HJ40-1 HC40-1 @390-@1600
VE-263 6 280 1800 548

79"VE-279 6 60 24 + (40) 200 360 46.9 230 2850 1350 MS250C HJ40-1 HC40-1 @440-@2000
R ~t

40" V-240

VIT-240 1005 180 520 502 463.6 108 M24  M52x1.5 8 457 30 59 2 4 7-M24 19 85 72
VE-240

50" V-250
VIT-250 1250 180 520 623 4636 108 M24 Ms52x15 8 563 30 59 2 4 10-M24 19 8 72

VE-250

63" V-263
VIT-263 1600 220 720 796 6476 144 M30  M52x1.5 8 738 40 82 22 6 13-M24 22 110 72

VE-263
79"VE-279 2000 238 720 996 6476 159 M30  M52x1.5 8 914 40 100 40 6 17-M24 22 110 72



A7 T B 37 BATUH R R ER R 5
Vertical and vertical horizontal stationary

power chuck

1. EARIRN -~ SHRIEEFLTE -
2. VAR PEHEBEREEFERAE  IMRIGXRE - 8
AIEANIN T ITAE -

[+
&
W
1 1
- 'l\1 -
1 _: i !
&
& &
v | _'_i
LT o,
L FAS (8" A5 (8" A
DV Fig-1
BSfi1 : mm
adll 5
=B
DV-6 2115 104/78.5 1900/ 1400 20 20 12 V-206
DV-8 @155 187/ 148.6 3600 / 2800 21 20 21 V-208, V-210, V-212
DN-8 155 148.6 / 148.6 2800/ 2800 17 20 28.5 N-208

R

DV-6 @220 168 140 55 @200 49 16 655 55 104.78 12-M10x15L 38 45 18 -2 PT1/4" 7.6 2-@15 M16xP2.0 Fig-1
DV-8 290 210 170 70 242 58 24 86 55 13335 12-M12xi6L 23 65 20 -1 PT1/4" 55 2-16 M16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 5.5 133.35 12-M12x18L 32,5 74.5 304 13.4 PT1/4" 16 4-17 M60xP2.0 Fig-2



Non through-hole power chuck for
vertical lathe (adapter included)
1. REFEBERNEFHERES -

2. WRARIXERRER -

{7 : mm
B
V-212RA6 3 30 16 5302 14276 35.7 3000 67.7 0.774 MS150C HJ12-1 HC12-1 032-0304
V-212RA8 3 30 16 5302 14276 35.7 3000 65.6 0.764 MS150C HJ12-1 HC12-1 032-0304
V-212RA11 3 30 16 5302 14276 35.7 3000 741 0.902 MS150C HJ12-1 HC12-1 ©32-3304
V-215RA8 3 35 18.7 9585 25798 35.7 2800 120.4 2.146 MS200C HJ15-1 HC15-1 068-0381
V-215RA11 3 35 18.7 9585 25798 35.7 2800 113.4 2.016 MS200C HJ15-1 HC15-1 068-0381
V-215RA15 3 35 18.7 9585 25798 35.7 2800 133 2,572 MS200C HJ15-1 HC15-1 068-0381
V-218RA8 3 35 18.7 9585 25798 35.7 2300 144.5 3.507 MS200C HJ15-1 HC15-1 078-0450
V-218RA11 3 35 18.7 9585 25798 35.7 2300 137.5 3.43 MS200C HJ15-1 HC15-1 078-@450
V-218RA15 3 35 18.7 9585 25798 35.7 2300 157.5 3.945 MS200C HJ15-1 HC15-1 @78-3450
V-221RA8 3 35 16 9075 28450 33.7 1940 198 6.46 MS200C HJ24-1 HC24-1 065-0530
V-221RA11 3 35 16 9075 28450 33.7 1940 190 6.35 MS200C HJ24-1 HC24-1 065-0530
V-221RA15 3 35 16 9075 28450 33.7 1940 184 6.28 MS200C HJ24-1 HC24-1 ©65-0530
V-224RA8 3 35 16 9075 28450 33.7 1760 240 10.54 MS200C HJ24-1 HC24-1 0152-0610
V-224RA11 3 35 16 9075 28450 33.7 1760 233 10.44 MS200C HJ24-1 HC24-1 2152-0610
V-224RA15 3 35 16 9075 28450 33.7 1760 227 10.36 MS200C HJ24-1 HC24-1 @152-0610
V-232RA11(41) 3 35 18.7 9585 25798 35.7 1060 399 31.6 MS200C HJ24-1 HC32-1 2100-0810
V-232RA15 3 35 18.7 9585 25798 35.7 1060 383 30.82 MS200C HJ24-1 HC32-1 @100-0810
V-232RA20 3 35 18.7 9585 25798 35.7 1060 419 32.69 MS200C HJ24-1 HC32-1 ©100-0810
VIT-212RA8 4 30 16 5302 14276 35.7 2500 68 0.792 MS150C HJ12-1 HC12-1 045-0304
VIT-218RA11 4 35 18.7 9585 25798 35.7 2000 141.5 3.522 MS200C HJ15-1 HC15-1 078-@450
VIT-224RA11 4 35 16 9075 28450 33.7 1520 255 11.3 MS200C HJ24-1 HC24-1 @152-0610
VIT-224RA15 4 35 16 9075 28450 33.7 1520 240 11.02 MS200C HJ24-1 HC24-1 2152-0610
VIT-232RA11 4 35 18.7 9585 25798 35.7 920 414 32.68 MS200C HJ24-1 HC32-1 @100-0810
VIT-232RA15 4 35 18.7 9585 25798 35.7 920 399 32.4 MS200C HJ24-1 HC32-1 ©100-2810



2
R~

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15

V-212R~V-218R Serration Pitch
#V-221R~V-232R Serration Pitch

15°=V-212R~V-218R —t al
A0 =V-221R~V-232H

15
30 VIT-212R

VIT-221R~
VIT-232R

304 125 220 30 25 106.375 171.45 133.35 18 6-M16 6
304 118 220 30 18 139.719 190 171.45 24 6-M16 6
304 150 220 30 50 196.869 171.45 235 28 6-M16 6
381 141 300 43 33 139.719 235 171.45 24 6-M20 6
381 130 300 43 22 196.869 260 235 32 6-M20 6
381 165 300 43 57 285.775 235 330.2 29 6-M20 6
450 141 300 43 33 139.719 235 171.45 24 6-M20 6
450 130 300 43 22 196.869 260 235 32 6-M20 6
450 165 300 43 57 285.775 235 330.2 29 6-M20 6

64
64
64
78
78
78
92
%2
92

45.75 1275138108 5.5 18 36
45.7512.751451155.5 18 36
45.7512.75113 83 5.5 18 36
49.75 2425 71 36 5.525.555
49.75 2425 82 47 5525555
49.75 2425 47 12 5525555
70.75 2425 59 24 5525555
70.75 2425 70 35 5525555
70.752425 35 0 5525555

50 M20x2.5 6-M12 50 54.5 130
50 M20x2.5 3-M8 50 54.5 130
50 M20x2.5 6-M20 50 54.5 130
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165

158
158
158

22
22
22

530 154 380 60 33 139.719 330.2
530 148 380 60 27 196.869 330.2
530 148 380 60 27 285.775 330.2
610 154 380 60 33 139.719 330.2
610 148 380 60 27 196.869 330.2
610 148 380 60 27 285.775 330.2

V-232RA11(41) 810 170 380 80 41 196.869 330.2

V-232RA15
V-232RA20
VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

810 156 380 80 27 285.775 330.2
810 187 520 80 58 412.775 330.2
304 118 220 30 18 139.719 190
450 130 300 43 22 196.869 260
610 162 380 60 41 196.869 330.2
610 148 380 60 27 285.775 330.2
810 170 380 80 41 196.869 330.2
810 156 380 80 27 285.775 330.2

171.45
235
330.2
171.45
235
330.2
235
330.2
463.6
171.45
235
235
330.2
235
330.2

24 6-M24 6 87 935
30 6-M24 6 87 935
33 6-M24 6 87 935
24 6-M24 6 126.5 93.5
30 6-M24 6 126.5 93.5
33 6-M24 6 126.5 93.5
30 6-M24 6 104.8 196.5
33 6-M24 6 104.8 196.5 25.5
35 6-M24 6 104.8 196.5 25.5
24 4-M16 6 64 45.7512.75
32 4-M20 6 92 70.7524.25
30 8-M24 6 126.5 935 275
33 8-M24 6 126.5 935 27.5
30 8-M24 6 104.8 196.5 25.5

33 8-M24 6 104.8 196.5 25.5

275
27.5
275
275
275
27.5
255

64
70
70
64
70
70
47
47
16

29
35
35
29
35
35

a o o0 © © © © O ©

25
25
25
25
25
25
25
25
25

14511555 18
35 5.525.555

70
70
70
47
47

35 9
35 9
12 5

5

25
25
25
25

55
55
55
55
55
55
56
55
55
36

56
55
56
55

64 M30x3.5 9-M16 60 77 180
64 M30x3.5 6-M20 60 77 180 155 22
64 M30x3.5 3-M12 60 77 180 155 22
64 M30x3.5 9-M16 60 77 180 165.122
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 3-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 165.1 22
74 M30x3.5 3-M12 60 93 210 165.122
74 M30x3.5 6-M24 60 93 210 165.1 22
50 M20x2.5 4-M8 50 54.5 130
62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

155 22

BSfi1 : mm

Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig2
Fig1
Fig2
Fig2
Fig1
Fig2
Fig1
Fig3
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



Bz
8

V-312RA8
V-315RA8
V-315RA11
V-315RA15
V-318RA8
V-318RA11
V-318RA15
V-321RA11
V-321RA15
V-324RA11
V-324RA15
V-332RA11
V-332RA15
VIT-312RA8
VIT-318RA11
VIT-324RA11
VIT-324RA15
VIT-332RA11
VIT-332RA15

Non through-hole power chuck for
vertical lathe (adapter included)

1 ERARIAERER -
2. 5t IE R B ERE AR BI7KEL T -

81 : mm

A A M B DB OO WLWWLWWWWW W W W W

30
35
35
35
35
35
35
35
35
35
35
35
35
30
35
35
35
35
35

16
18.7
18.7
18.7
18.7
18.7
18.7

16

16

16

16
18.7
18.7

16
18.7

16

16
18.7
18.7

5302
9585
9585
9585
9585
9585
9585
9075
9075
9075
9075
9585
9585
5302
9585
9075
9075
9585
9585

14276
25798
25798
25798
25798
25798
25798
28450
28450
28450
28450
25798
25798
14276
25798
28450
28450
25798
25798

35.7 3000 7 0.773 MS150C  HJ12-1
35.7 2800 131 2.24 MS200C  HJ15-1
35.7 2800 128 2.23 MS200C  HJ15-1
35.7 2800 140 2.64 MS200C  HJ15-1
35.7 2300 157 3.68 MS200C  HJ15-1
35.7 2300 155 3.66 MS200C  HJ15-1
35.7 2300 167 4.07 MS200C  HJ15-1
33.7 1940 212 6.73 MS200C  HJ24-1
33.7 1940 210 6.75 MS200C  HJ24-1
33.7 1760 257 10.83 MS200C  HJ24-1
33.7 1760 255 10.85 MS200C  HJ24-1

35.7 1060 399 30.17 MS200C  HJ24-1
35.7 1060 397 30.19 MS200C  HJ24-1

35.7 2500 78 0.78 MS150C  HJ12-1
35.7 2000 158 3.74 MS200C  HJ15-1
33.7 1520 268 11.47 MS200C  HJ24-1
33.7 1520 267 11.49 MS200C  HJ24-1
35.7 920 427 32.85 MS200C  HJ24-1
35.7 920 425 32.87 MS200C  HJ24-1

HC12-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC24-1
HC24-1
HC24-1
HC24-1
HC32-1
HC32-1
HC12-1
HC15-1
HC24-1
HC24-1
HC32-1
HC32-1

232-0304
268-0381
268-2381
068-0381
078-0450
78-0450
@78-@450
65-0530
265-0530
©152-0610
0152-0610
©100-2810
@100-2810
@45-0304
078-0450
©152-0610
0152-0610
©100-2810
@100-2810



HEEFV-312R~V-318R Serration Pitch 1.5

 Hi¥V-321R~V-332R Serration Pitch 3.0

T

15°=V-312R~V-318R
30"=V-321R~V-332R

511 : mm

R 3

V-312RA8
V-315RA8
V-315RA11
V-315RA15
V-318RA8
V-318RA11
V-318RA15
V-321RA11
V-321RA15
V-324RA11
V-324RA15
V-332RA11
V-332RA15
VIT-312RA8
VIT-318RA11
VIT-324RA11
VIT-324RA15
VIT-332RA11
VIT-332RA15

304 138 220 30 38 139.719
381 160 300 43 52 139.719
381 160 300 43 52 196.869
381 165 300 43 57 285.775
450 160 300 43 52 138.719
450 160 300 43 52 196.869
450 165 300 43 57 285.775

190
235
260
235
235
260
235

171.45 24 6-M16 6
171.45 24 6-M20 6
235 32 6-M20 6
330.2 29 6-M20 6
171.45 24 6-M20 6
235 32 6-M20 6
330.2 29 6-M20 6

64
78
78
78
92
92
92

45.75 127514511555 18 36
49.75 2425 82 47 5525555
49.75 2425 82 47 5525555
49.75 2425 77 42 5525555
70.75 24.25 82 47 5525555
70.75 24.25 82 47 5525555
70.75 2425 77 42 5525555

50 M20x2.5 3-M8 50 54.5 130
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165

158
158
158

22
22
22

530 173 380 60 52 196.869 330.2
530 178 380 60 57 285.775 330.2
610 173 380 60 52 196.869 330.2
610 178 380 60 57 285.775 330.2
810 181 380 80 52 196.869 330.2
810 186 380 80 57 285.775 330.2
304 138 220 30 38 139.719 190
450 160 300 43 52 196.869 260
610 173 380 60 52 196.869 330.2
610 178 380 60 57 285.775 330.2
810 181 380 80 52 196.869 330.2
810 186 380 80 57 285.775 330.2

235
330.2
235
330.2
235
330.2
171.45
235
235
330.2
235
330.2

87
87

30 6-M24 6 935 275
33 6-M24 6 935 275
30 6-M24 6 126.5 935 27.5
33 6-M24 6 126.5 935 275
30 6-M24 6 104.8 196.5 25.5
33 6-M24 6 104.8 196.5 25.5

24 4-M16 6 64 45.7512.75 14511555 18

32 4-M20 6 92 70.7524.25
30 8-M24 6 126.5 935 27.5
33 8-M24 6 126.5 935 275
30 8-M24 6 104.8 196.5 25.5
33 8-M24 6 104.8 196.5 25.5

82
77
82
77
82
77

47 9
42 9
47 9
42 9
47 5
42 5

25
25
25
25
25
25

55
55
55
55
55
55
36

82 47 5525555

82 47 9
77 42 9
82 47 5
77 42 5

25 55
25 55
25 55
25 55

64 M30x3.5 6-M20 60
64 M30x3.5 3-M12 60
64 M30x3.5 6-M20 60
64 M30x3.5 3-M12 60
74 M30x3.5 6-M20 60
74 M30x3.5 3-M12 60

50 M20x2.5 4-M8 50 54.5 130

77
77
77
77
93
93

180 155 22
180 155 22
180 165.1 22
180 165.122
210 165.1 22
210 165.1 22

62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

Fig1
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig2
Fig1
Fig2
Fig1
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



